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b e sropt below chows the monthly maximumn temperatures in Tokyo, 2. Th@ prices of lfouses sok_I ‘ohe mon'tlj ‘b},c h._rfgéai,e,sta_n‘a agex_‘;__t.ag_‘;.;; < ’ . d\}
' MONTHLY MAXIMUI TEMPERATURE : _ $250000, $280G00, $2400000, $300000; $290 000; . $550.000
| , a Caleulatethe | mean i median price - '
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A
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BE \ ' 7 b Which of these measures {niean or median) is the most appropriate average to use -
/ ‘ " ‘ , for these prices? Give reasons, -
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i - | 3, Melanie scored 67 in a- Science test in whicly the mean was 56 and the standard devig=
) — ) - ffon 11, In an English test, for which the mean' was 54 and the standard deviation 8, she -
/ _ . _ ) . scored 60, ) ) ‘ L ‘ -
s, - ' ) a I whiclt subject did she perform better, given that the classes are of equal ability?
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(i)  What is the range of the monthly mi;imum temperatures?

- b What mark would Melanie have t6 have scored in Bnglish for her performance
e T T : to be equivalent to that In Science? -
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Tati i res. |
i)  Find the mean and standard deviation of tae monthly mHlellE[l temperatu ld{)



fan experiment, two dics were theow:
as showm in the table,

n forty limes and the total seore i each case-was recorded,
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(i) Complete the comulative frequency columm,

(i) . Using the geaph papet below, draw on the san
and & cumnulative frequepcy polygon,
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Frem ;c;la_r'gféiiﬁ,'ééiiiiiﬂcfllle-yi’eirl_tan and the itltel’ql?(ﬁ T TANES of e scores,

¢ dingram a cumulative frequency histograny

5. The heights in centimerres of a sam
in the table below.

)
Gy

“The frequency for. the L70-179 cmpclass is missing,

ple of 25 gids in New South Wales are recorded in 7 classes

Height range {cm) Midpoint (em) Lrequency
140-149 T4 1
150-159 X LI 7 11
160-169 164.5 9
170179 1745 ] se-maeas
180-189 184.5 ]

* "] 190-199 194.5 0
200-209 204.5 1

How-do we kngw it must be 27’

Witat i3 the modal é_lavss.?

(i) Calculate the -meap.

{iv) - Calcilatc the Standard deviation..

6. The Cavelto Pasta Company emgloys sévenli} peaple.

‘The.annual income of the employees is shiow in the frequency distribution table below, =

]
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™
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Annual-incone Class centre | Number of employees
¥ ) o ox - Jx
10000-19999 15 000¢ 16 ; 240000
2000029599 250060 24 _ 6000‘00
3000039999 |, 35000 T A
40000-49 999 45000 ’ 9 405000
50000-59999 55000 K 385000 |
60000-69999 65000 ) 3 , 195000
Ef=T0. - . Efes

Calculate the value of A 1n the fx column, .

Caleulate Efx.
Determine the incan snnual income.

1n which anngal income class does the median of this distribution e? -

v - R . B .y . : .
Using the inforination in the table and your ¢alculator, find lhwandard deviation of this
distribution, 3

Cavetto Pasta wishe to employ another 7c7ig‘i_[t_fxébél'e;l?;ﬁr;gt‘r—(hcémlew-emp[nyeos will
eaut $ I3 000 pa. each, and ihe other foue will earn $65 000 ) paa, gach—

What will be the effect g{_w;.se.huw-e111plﬁyéﬁfthgstallda£i  deviation of income
distributiorat Ca¥eite-Fasta® Give T bHaf Teas0m | foryour answer, -



7. ‘The table below shows test results for students In (wo ungeaded classes. ’ . B, Thescotes below represent quiz results for aLatin class of 12 students ona Pre-test and Post-test,

i - . _ Pretestt 0 1 5 7 g q 013 2
T Bl 68 1 18 | 85 | 89 |80 [ 7 | 65 | & Posttest 10 11712 13 1§ 19 21525 27 29 20 ag
7 Green 9| 7 84 82 8 | M| %7 s . . . . -
9 /‘:_; L n _ : (1) Display the data i a back-to-back stem-and-leaf plot, using the stem given,
‘ 3 Pretest ! gten Post-tast _
I N T e——— * 0
. N - - N s
*+ 'The box-and-whisker plot drawn is for 7 Blus, - - ) i ; ) ! N
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80 2 &5 6 68 70 72 74 76 78 80 B0 hy 86

. ! . - 8 80w oo B (i)  Betiveen the pre-test and the post-test, the Latin teacher us
(i) State the 5 summary statistics required to draw the box-and-ivhisker plot for 7 Green. exerclses. Is she justified in thinking that the exetcises improved the perforniance of {he .

students on the past-test? (?:})sider location, spread, and shape of the data to help justify
YOur answer., :

et a new serdes of praciice

(i)  Onthe same grid as 7 Blue, draw a box-and-whisker plot for 7 Green,

“(iti)  Based on these test results, are the two classes of equal ability? Jusﬁfy your answer by
referring to shape, spread and location of the two sets of data,

Thé weights })'fié_ihfgfé's?mpié of 18 year old nfales 15 bormally distribufed witiva mean of 74 -
kg and standard deviation of 6.5 kg. Between what limits would you expect the weights of

2. the middle 68% of these males fo lie

L= Tt

- - Co b the middle 95% of these malgg_.to lie -
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The graph below shows the monthly maximum temperaturss in Tokyo.

MONTHLY MAXIMUM TEMPERATURE
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{iy What is the range of the monthly maximum temperatures?
26~ / }
P

= 227

(i)  Find the mean and standard deviation of the menthly maximum temperatures. lclp
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2. The prices of houses sold one month by

. seored 6(_1,.

b What mark would Melanie have to ha’ye

Name: ntouws Coromna
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"a,r,éa_lf est"a,té agérit are e
§250000, $280000, $240000, $300000; $290000, “s5E0000 'O
a Caleulate the | mean il median price - '
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b Which of these measures (mean or }nedian) is the most appropriate average to use
for these prices? Give reasons. ;
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3, Melanie scored 67 in a*Science test

in which the mean was 56 and the standard devia-
tion I1. In an English test, for which the mean was 54 and the standard deviation 8, she

A In which subject did she perform bette

I, given that the flasses are of equal ability?
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to be equivalent to that in Science?

2 = >xX-5%

scored in Briglish for her performance
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/M an experiment, two dice were lhrown forty times and the total score in each case was recorded, 5 e heights in centimetres of a sam
as shown in the (able. ’

ple of 25 gitls in New South Wales ate recorded i 7 classes
in the table below.

- . Height range (cm) Midpoint {em) Frequency
Score " Frequency Cumulative frequency _ 140-149 1445 1
= . 150-159 154.5 |
2 ! | | 160-169 £64.5 9
- : 170-179 745 | aooaoooo
3 2 2/ £80-189 184.5 ]
: 190-19% 194.5 0
4 2 5 Vv 200209 204.5 1 /
5 2 .| (i}  The frequency for the 170-179 ¢ class is :mssmg How do we know it myst ba 22- L-vynio Sy b ‘2-‘ e f:?
. ,. e ﬁra;g Lolémn Aost equal g, 28 AJC(S i b sq«'hph& L2x-23 e
6 5 12 / (i) What is the modal st |
- : = (6O - < YA
7 7 15_;1 ] (i)  Calculate the mean. - /’
) | 2.5 L
A s 24 f (iv)  Calculate the standard deviation, ) L—j-
9 5 2’Q| v - 6. The Cavetto Pasta Company employs seventy people.
0 9 B < - * The annual income of the employees is shown ia the frequency distribution table below.
g /
11 I ) ‘5 C‘ \/ Anntal income Class centre | Number of employees
, s x / s
12 B! o . 1
10000-19999 15000 16 240000
. 20000--29 095 25000 24 600 000
() Complete the comulative frequency column. e |
! 30000-39.999 35000 1 4 3Eskoo
(i)  Using the geaph paper below, draw on the same diagram a curulative fr;.quency histogram 40 000-49 999 45000 9 405000
and a cumulative frequency polygon. 5
40 . 50000-59 999 55000 7 385000
£
3 60 00069 999 65000 3 195 000
T .
O Y f =70 - Ifcm
o : 7 . o
Qii oA N . LIET F (i) Ca[culaie the value of A in thcﬁr column, L/,
o AN - Az 33TOOD
Y ! ‘ ()  Caleulate Ny,
2 oIS P . Euf = 22 OO o :
t: ] 2/ (ili) Determine the mean anaval income,
~ ziH] . P ; - g‘(isl’f)“'l\ NS o .
w3 2

(i) In which annval income class does the median of this distribution hij//

. i 2O O —[R2ANA 9
Cf - ¥ : ‘i‘!} ] (v} Using the infermation in : 1e table and your calculator, find the standard deviation of this
'l +- distribution, |4_,"’5 "\l 4 ((a(f,')
1o z ; n (vB_Cavetto Pasta wishe to employ another er cight people-Four-af-these-new-employees will Wz
. i H A ploy pe .
N /. | HiIm . carl ST5000 g, #ati, and the other four will earn $65 00 p.a. each.—
o ‘ ] u H £ What will be the effect of (hese.new employées on lha_stﬁn_qggd dawanon of income (7‘
o . [‘; : : d[slngunmratucaveue—Pasm?*Givi‘a bH&f Teason ffff YOUr answer,
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(iii)  From your graph estimate \/m djan and the interqu nle range of the scores. 3 ‘
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7. The table below shows test results for students in two ungraded classes.

7 Blue 68 | 78 | 85 | 89 | 80 | 76 | 65 | 83
7 Green 6971 767 | 84 | 82 | 82 | ¥ | 76| 8

ﬂ(i’) B (,'fc . . .

The box-aud-whisk;sr plot drawn is for 7 Blue,
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606264666&7072?4767330828486889'}9294
(i) State the 5 summary statistics required to draw the box-and-whisker plot for 7 Green,

Lowsest geore = (9 1

Highest score = 94 //
L owev CQ-&WH |‘?"_:':-74

, |

f

Medlian = 19 v /
Upper Quarfile = 2.5

(i)  Onthe same grid as 7 Blue, draw a box-and-whisker plot for 7 Green.

AN

(iti)  Based on these test results, are the two classes of equal ability7 Justify your answer by
referring 1o shape, spread and location of the twa sets of data,
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B, The scores below represent quizresults foraLatip c;

lass of 12 studentg ona Pre-test and Post-test,
Pretest. 0 4 57 8§ 1o 19 11 H13 15 20

Posttest 10 11 132 13 ¢ 1921 25 27 29 29 39

{)  Display the data in a back-to-hack stem-and-leaf plot, using the stem given.

- Pre-test ' Stem i Post-test
g1s5le) o L
531100 1 Cl2269 e
C oo 2 157949 -~
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(i)  Between the pre-test and the post-test,

YOour answer,
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The weights of a large sample of 18 year old males is normaly distributed with-a mean of 74
kg and standard deviation of 6.5 kg. Between what liniits would you expect the weights of

A the middle 68% of these males to lie A . .
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b the middle 95% of these méleg.to lie
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